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A 2.0 kg block is released from rest the top of a ramp (point A) as shown in Fig 8. The
coefficient of kinetic friction between the block and the inclined surface is 0.20. The speed
by which the block hits the bottom (point B) is:

A) 6.6 m/s os® = m
B) 11 m/s Fuz )pa s
C) 0.0 m/s Y = ma
m w
D) 2.0 m/s . &=
E) 13 m/s M(Z,%—/*w‘g”* =rfe
A % o
g 29 Mexd T L
Im 5 Yy g mls
P a=-
B : am = Vit 2a DX
7] ¢ x“gxf
Cos B = z -0 + 2
. 2 = b L om/s
snb=z /i
Q8.

A block of mass 3.0 kg is pushed against a rough wall (coefficient of kinetic friction is 0.20)
by a force P = 30 N that makes an angle of 50° with the horizontal as shown in Figure 9.
Assuming the block is sliding down, find the magnitude of its acceleration.
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Figure 9




